100m

148

* %

O WN —

34

* %

o g s WN =

200m

148

DO~ WN —

34

* % %

o s WN =

400m

148

O A WN =
B B B

R

0N O WN =

12.82
12.97
13.06
13.88
14.45
17.55

12.90
13.08
13.15
13.33
14.50

26. 49
28.38
28.96
29.70
29.95
30.76

26.32
26.99
27.19
28.10
29.27

. DNS

62. 14
63. 20
63.70
67.10
67.93
68. 41

57.83
60.99
63.06
63.06
63.82
65.18
65.56
67.79

INATT R AGRE
FE (348 1%&
( 0.3)
106 de#t Rt (& 3
301 £B =X (8 B
218 x EX (A A
821 Bff W (% B
508 LE fEW (M AP
68 10 = (R #

(

13)

276 EHEBEAE ( &L KN
102 Flu—ep ( & &
502 JRE 17 (/@ &
824 1BH K (B K
64 EH ME (R #
¥R (3#1 %
( 14 )
276 JEHEEKRE (AL A
140 55 R# (F W
821 H 1§ HO( W E
52 =@ #fME (B
316 dA&ESH (B 5
13 WA (R #
( 22 )
218 sy =X (R A
301 £B9 £k (& B
824 185 FEX (B E
145 % EAN (F W
506 & & B (® &
2 RB|IMEXRE( R 2
¥R (2#2%
( )
504 AH 1R (&
823 HE &I (B =
126 @A #F (& W
320 BEH BZ (& &
213 & BE (A A
274 $£E BAA (AL W
( )
216 =l £ (A A
101 & K (& 3
504 AH 1R (&
823 ME &I} (# ®
506 & & B (B &
126 @A £HT (& W
320 BH BZ (& &
138 898 B (F W

o A
= =

+5)

— NN NN DN
R N N

NN NN DN
—

+5)

—_—_ N = N
N N N NN

N =N NN
NN N NS N AN

+4)

NN = =N DN
—

— = =N DN
— N N

24

* %

SOl WN —

s
*®

0N O WN =

24

* %

G WN —

RE

O dOo T wWwN —

24

DO WN —
* % % %

57EEE EBRRE

it
HitHH
HitHH
it
it
it

12.57
12.73
12.89
12.94
13.10
13.12
13.33
13.75

it
it
HitHH
HitHH
it
DNS

HitHH
HitHH
it
it
HitHH
HitHH
it
it

it
it
HitHH
HitHH
it
it

(

306 HHF
101 #fep
826 nt
277 A
524 rr#t

15)

1’3
AKX
1%
R
i

66 £ Ermk A

(

0.9

106 Je4t Rt
306 AF &3}
276 JRH{EAXER
278 8 =X
301 4By EiK
102 Fiude—ER
826 Nt ILiE
101 #tep HIK

826 1t

g

102 FLUE—ER

67 £F
318 [EH
521 0
256 K

MR
®E
KL

1.3

276 JREEAXER

218 B &
301 4B

=X

ESP/N

102 FUE—ER

826 Ht
824 ¥&7H
67 £F
145 fhie

(

275 B
101 #tep
506 &K
138 #1H
820 —#&
310 %

i
Rk
B4
A

EE
PN
B

H—
E-3 0

SHE AT

NN AN AN AN AN AN

g SR

>
=

R g RS

BB AT
SRS SEIIEE

I

e
3

SRS
SRR RS I

VN
/N
R

P

TH BT

o
> >

™

S B = oa

3

— = NN NN
—

N — = = NN
— — e e e

— = N DNDN NN DN
e

— N =N NN
—



800m

148

1% 2.
2% 2.
3% 2.
4% 2.
5 2.
6 2.
7 3.
R

1 2.
2 2.
3 2.
4 2.
5 2.
6 2.
7 2.
8 2.
1500
1 4 .
2 4.
3 4.
4 4.
5 5.
6 5.
7 5.
8 5.
9 5.
10 5.
" 5.
12 5.
13 5
14 5.
15 5.
16 6 .
17
3000
1 9.
2 10 .
3 10 .
4 10 .
5 10 .
6 1.
7 1.
8 1.
9 12 .
10 13 .
110mH
R

1

2

3

4

5

6

21.517
27.86
38.07
42.72
46.54
49.32

3.08

11.89
12.60
19.09
19.14
28.11
31.10
32.24
33.87

26. 89
40. 83
42.67
42.70

13.43
16.09
20. 33
20. 63
34.91
41.60
41.78
42.60
43.52
58. 56
13. 66

. DNS

36. 06
24.31
35.17
46.13
52.40
28.06
35.14
49.22
18. 36

4.20

17.62
20.19
20.48
20.72
22.84
24.55

& (2# 2%
(

125 EARIRE
62 BiEEEA
825 ® B
3T =% s
273 &l BE
506 &H A&
211 Bl —E

275 BF L&
125 EAMEE
62 BIEEEA
143 fOgE AR
103 % EM
825 R EH
526 JRH [H1E
317 28 #E3

R

500 A BEX
125 EAME
509 B B|E
128 hft IR
103 #& &
823 mE %R
3T = R
305 BuJil HE
302 Ema it
272 iIE1 R

N HEAO fik
828 IUT 1&F
527 &K XA
65 HE #HA
211 thE —E
829 JkI#F KL
204 JIIAfRE

R

500 BB EBEX
128 Hf IR
500 A =|E
62 BEEE A
143 Mk BhHE
121 &t JL#
302 Ema it
305 BhJiIl BE
505 HHE {AF
B0 fth

( -0.1

503 & 5N
B23 R BN
270 dt8F A
141 BE@ &0

136 s £ (
131 X BX (

EHRHAEEEH W
R e RS
NN =N NN
o o~ wWN —
L o o

WN NN NN

S A ey
- = NN = DNNN

X

2>

>

BRI B W H

x

>4

>

R
FHIHEBHIEEEHS SRS

AN AN AN AN AN AN AN AN AN AN AN AN AN AN N~
S =N === =N =N =N DN
NN N N N N N N N N N N N N N NN

B SRS R T
NN —= =N =DN

I CIE I - B
Sggdmmn

HitHH
it
it
HitHH
HitHH
it
DNS

(

143 hngk
275 B
526 R H
103 #%

501 3R
829 I
313 =H

BhH
EE
iR
&
Bz
A
N

R R

<

12>

>

73

X
A

pvd
]

]

—_—m NN =N —
NN NN NI



14£100m
FE (2#2% +4)

148 ( 06 ) 248 ( -09)
1 % 13.04 311 % E (® B 1) 1 % 1325 523 {REE BN
2 % 13.14 146 |+ B (E ® 1) 2 % 1349 314 FKR Fitt
3 % 13.56 67 2F E&E (kR ZF 1) 3 % 1354 145 #®mIF FEA
4 % 13.57 528 & M (&m #H 1) 4 % 1378 140 4% R
5 14.19 201 F@B # (A& W 1) 5 1431 70 BF % &
6 14.24 322 +@ B3} (#® B 1) 6 1454 522 =@ M=
7 14.67 13/ WA (R F 1) 15.29 828 IUT 1&F
8 16.55 609 Bk =g (& & 1) 1590 610 £t L FEKA
R ( 10 )
1 1298 311 F4% E ( & B 1)
2 1303 146 MmHF R ( F W 1)
3 13.08 523 R B ( & # 1)
4 1344 671 &€F HEA ( K & 1)
5 1346 528 8 AR ( M 1)
6 1346 145 1Rl %A ( F W 1)
7 1350 314 SERK Bt ( 8 5 1)
8 1374 140 5% R# ( & W 1)
4 x100mR
RS
101 ffp K (F W 2) 274 £5@E HAA
102 Flue—8 (& W 2) 275 B &%
1 49.75 105 €& ZEB (& W 2) 2 50.72 278 A E£=K
106 dt#t 3| (F W 2) 276 JREEXER
502 RH 7 (@ # 2) 821 Hig i
523 BEM (M & 1) 826 ht LB
3 50.81 528 &iE #HMK (m W 1) 4 51.60 825 X B
503 wH O(®m O O2) 824 18 IEiK
314 FFR B (2 B 1) 64 FH ME
306 A #3} (W B 2) 67 €F EHE&E
5 52.16 301 %8By E£K (& B 2) 6 54.36 70 BF %y %
322 xH B3} (#® B 1) 62 BREEEAN

B

<

=

>

—_ e e
NN AN N N N NN

RIS B

o a

WOH B I SISD

P 2

~ o~~~
NN NN
~—

—~ e~~~
N = =N
—



TR24F9H29H (1)

R

R

BBk

Ef

~ o~~~

EEREER
I 4142 40, 40
0 2 B K
B R R
@ 8 E
B %
™M O 0 — —
BEREE

1.69
1.63
1.40
1.30
NM

— AN M

AN AN AN AN AN AN AN AN

NN AN ANANANANANAN N

BESEE MK G KD

L SEL RFELL

S N N N S N

DA EERRE | E
5B 3¢ T 0 20 R

EQEWEE BHIM
REEREKL | H
8888538383
—— M0 — O O O ™M

AN AN AN AN AN AN AN SN~

— S N N N S N

fia st #%

B Bk

1 EEN

R

R

AN AN AN AN AN AN AN AN AN~

NANANN——+—AN—AN N
BEEEEMEBEHEHE
LR REILEBILER

N N N S N N N

==

o1
HE T BEKKKES
FEERHARRLE K

EEN
KHEEOHASRIKK
KEEKEIEENES
TN DT OMD — ©
SRgRc2zeseg

AN AN AN AN AN AN AN AN AN AN AN~

—— T = = = — — — — y— —

RO REMHERERL
ML EIILREERER

N N N N N S N N N S S

MR B EHE RGeS
S0 B R U ]

r i oK
HEHKEFR O >EHENEHIOIL
EHHEEHNIEUHE=S
CONTFT— N r— O N— <
TOHNA—AN—MHMORNO NO
—_—_m MDD m—N PRSP RS

AN AN AN AN AN AN AN AN AN AN AN~

N N N N N S N N N S S

OO r—r—r—— D F O M — N
4#44443#333D

—ANMJTOOOMT~0DO — N

—_———



IMNATTRERFARERS FE57EELHRASR

100m
FiE (3#1% +5)
148 ( 0.7 ) 248 ( 24
1 % 12.96 102 @®HE BXE (F ®W 2) 1 % 1347 294 FH
2 14.36 958 ¥ F #F (% £ 2) 2 % 1371 853 #BIERIZE
3 14.39 308 §#iEEF (8 B 2) 3 % 13.79 304 ME UV T=
4 14.42 T X% E#t (& #F 2) 4 % 1404 106 ¥ME 28
5 14.47 296 BEEHXET®E (L W 2) 5 1460 581 RILLBEZETY
6 14.50 582 #F H®HE (F #H 2) 6 1496 959 FH P
7 DNS 862 hiEREHE (B ' 2)
3#A ( -0.1) RIS ( 0.3
1 % 1402 292 Lig#H2H (R W 2) 1 1270 102 8#5 B%
2 % 1414 583 RE +#& (m # 2) 2 1360 294 HH %
3 * 14.24 850 fB EF (&8 ® 2) 3 13.85 304 PIE UMiT=
4 1441 955 £H #HE (£ £ 2) 4 13.97 853 #IMEHIZE
5 1458 301 /NE ZEEF (& B 2) 5 1418 292 LigEDH
6 1587 105 A HMB (F H 2) 6 1422 583 A L&
7 1424 106 ¥ME 2R
8 1452 850 JE EF
200m
FiE (3#1% +5)
148 ( 12) 248 ( 2.1
1 % 2860 294 FHA & (R A 2) 1 % 2912 292 L{gEHEDOH
2 % 30,19 853 MAJIMERET (2 = 2) 2 % 30.06 302 BIFF 1t
3 3047 308 SHEEF (8 B 2) 3 3023 585 #AK 0
4 3059 584 KRA/EXEF (F #H 2) 4 3068 958 MTF #&F
5 31.14 109 EXHAE (F W 2) 5 3189 854 KHIE#
6 3162 T3FHHE XKRIE (R ZF 2) 6 3336 104 b FREF
348 ( 14) R ( 0.3
1 % 2827 149 HE #HK (F W 1) 1 2794 294 HHE %
2 % 3006 963 AT #E=F (& = 1) 2 2797 149 HlE K
3 % 3087 301 /NfE ZEF (& B 2) 3 2061 292 E{EHDOH
4 % 3164 291 A+EMK (L A 2) 4 30.16 853 HMAJIMEFIZ
5 3244 856 EA/NIXE (8 = 1) 5 3030 302 RIFF E1E
6 3046 963 AT EF
7 3055 308 SAIBEF
8 3060 585 #iKk W
800m
FiE (3# 1% +5)
148 ( ) 248 (
1% 2. 3806 578 &g “M (| & 1) 1% 2. 3696 590 ##1F W3
2% 2. 3923 J15EH XE (¥ B 2) 2% 2. 4708 303 T 4AN=E
3% 2. 4257 T4AEMA HE (R & 2) 3% 2. 4762 142 thft EHME
45% 2. 4264 108 kO FE&x (& H 2) 4% 2. 5358 295 ®Bxk HF
5 2. 5720 854 KHIE#H (& ®} 1) 5 2. 5369 712 # 24103
6 2. 5941 145 #JI & (B #H 1) 6 3. 122 345 UM =%
3. 481 579 % Fim (M 8 1)
R ( )
1 2. 3235 590 I ME (8 & 2)
2 2. 3310 35 #H XREB (& B 2)
3 2. 4122 74 EH BE (KR EZ 2)
4 2. 4409 108 kO FEA (F W 2)
5 2. 4589 303 A NE (& B 2)
6 2. 5096 142 ¥t EME (& #H 1)
7 2. 5266 578 F #M (@ #W 1)
8 3. 509 295 BX BEHF (A A 2)

~

W BT
df 2 & o8 3
NN DNDNDN

~

TR EE AT
MEBAMES S
NNNDNDNDNDNDDND

<

=

>

~

Wt
EHMEEI

<

=

N~ o~~~ o~
>

N =N NN DN
—

p

~

ISR

<

=

NN N N~~~ o~
>

B
FEdEHISSD
NN =DNNN-=N

~

EHAHEH
§ W2 & @
NN =N



1500m

16.24
16.27
27.34
28.21
39.69
44.99
52.25
56.34
14.53
15.04
513
. DNS

— QWO U~ WN =
N o o oot oror oo ool

—_

100mH

148

18.23
18. 51
18.71
19. 88
20. 39
DNS

* %t %

DT WN —

s
*®

17.53
17.92
18.07
18.17
18.36
18.41
19.30
19.48

0O N O WN =

1TH£100m

148

13.27
14.12
14.14
14.45
14.83
15.27
15.47

* %

~NOo O wWwN —

348

13.84
1437
14.54
14.75
14.76
15.34

* %

DT A~ WN —

(

(

(

(

RB

315 BH xE
590 %I
74 EH HBE
303 TR AFE
108 kA A&
578 B8 M

142 thft EME
140 A4 BF
344 BERAT
579 HE F1y
851 s £

295 BX EA

FiE (2% 2%
10)

23 a0HpMY (A
307 4a RE (M
580 #M ¥ (™
962 = FR (R
70 BABEE (R
146 KB #E (&

-1.0)

304 PIFE UM
101 &% 2
293 AOHMY
307 A RIHEK
589 M F1t
309 ZAMHE
957 & FF
962 | 3K

149 #1:E  #HK
963 T =T
350 #RE RIE
20 tE&E
5714 KT HW
67 AIF FHE
857 MAREEF

40 IT BEF
69 15 &HB
150 =& ¥
858 #t H&F
962 = Fik
571 WAk 04

NN NN N N~~~ o~~~
ARBETHUWH WS H T
NN = = = 2 2NN
NN NN NN I NN IND NN

_—_ = NN N
— e e e
DT A WN —

* % % %

<

>

>

BN RS
dl it 8 WSS W
— NN

R T T (=Y
DO WN =
B

o8 o B B W
—_ e
—
00 N O s WN =

it
HtHt
it
it
tHtHH
HitHt

13.39
13.87
14.26
15.06
15.20
15.53

13.37
13.46
13.89
13.92
14.24
14.56
14.60
14.74

(

-04 )

304 FIR DRt

(

961 H5
855 FIL
352 AKX
576

68 E%
143 [ 7

(

149 HIE
961 HE
855 L
340 I F
350 HRE
963 AT
69 ¥
352 AXK

N
©w
-

iR

f
i
MR
2F
Ex

©
w
-

HK
iR
f
BE
R

xr
ES]

HiE

T W TH W R
F it S dl§ R
N =N NN DN

T = R W
& W ot

it T

<

=

e
§ F o §B 96 o8 o 2

EEMERE



4Xx100mR

52.28

55.57

57.13

DQ

R

106 ¥ #2A
102 %8 EBEXR
101 £F =
149 #E  #HK

340 IF HBE
304 MIF O3 1=
309 EEMME
350 R AT

854 KHEIER
855 |l =
850 1B EF
853 #)I{E FIZE

E=
wE
®E
iR

963 AT
955 £H
958 A F
961 1 &

—~ e~~~

AA,-\,-\
D
-

—_~ e~~~

Wb Wi Wt )t
o o o ot

T TH TH TH

BE

B

>

EER

>
5>

FEEE SEES

4 O Bt

55. 11

56. 46

58. 54

20 tE&E
292 Ei&%GDH
296 FREKXETE
294 HH &

585 £ K o
583 FH L&
582 #F HE
589 #iH Tt

Rh
Hi
B
&5

13 &H
nxX#
14 EH
69 5

—~ e~~~

BEBH HHHH

— N NN
—



ER25F9H29H(R)

FE 1= Bk E= B
R R

1 484 (1.0) 128%HE BX (& ® 2) 1 1.51 955 £@ %=
2 467 ( 0.5) 71 K& EH#t (R 2 2) 2 1.30 69 hE EE
3 450 (-0.2) 583 FME & (m #H 2) 3 1.25 302 BIFF Wit
4 444 ( 0.4) 850fE EF (B E 2) 4 125 582 ##F HWE
5 4.44 (0.7) 585 8K W (m & 2) 5 1.20 352 AA i
6 4.42 ( 0.2) 589#MA B (@ & 2) 6 1.20 574 KT HW
7042 ( 1.7) 23#x806BMY (2 K 2) 7 1.20 297 b #A
8 417 ( 1.1) 9564 Ukh (R £ 2) 8 1.10 588 ;TIB{EARE
9 408 ( 1.4) 959FE@A B (R £ 2) 8 1.10 317 HpE M=
10 398 ( 20) 106 #4E BA (& #® 2) 8 1.10 73 FHM@E kA
1M 398 (21) 312@#% =B (W B 2) 8 1.10 107 B 3k
12 3.95 ( 1.5) 852 miERME (B =} 2) NM 141 BE XE
13 391 (05) 101&€F = (¥ #® 2) NM 148 #ix RATE
14 3.86 ( 1.4) 306 /MR (# B 2)
15 373 ( 1.1) 296 BEEAZE®E (4 KW 2)
16 3.40 (-2.2) 310x%E %XEBE (#& B 2)

3.97 ( 0.9) 312&HF =W (# B 2) BR
1 ENEB an
R R

1 412 (-0.1) 961 fhE K (& £ 1) 1 988 859 LA BE
2 405 -0.7) 340;IF BB (& B 1) 2 768 103 % F=Z
3 405 (-0.9) 855 L fE (#M E 1) 3 758 107 WM kE
4 387 ( 1.3) 51X %1 (& #B 1) 4 758 956 dt Y HL
5 3.8 ( 0.4) 57671 A (Fm &M 1) 5 728 297 thiE 4R
6 3.82 (-0.9) 351 EE @Bm (& B 1) 6 708 314 [KE HER
7 372 (05) 68E% 22F (& = 1) 7 707 318 IuAK Bk
8 3.56 ( 0.4) 211/ &4 (x AW 1) 8 667 858 At MWF
9 3.53 (-0.5) 67T =T (W = 1) 9 583 311 BABNEATF
10 343 ( 1.3) 960FE H (T £ 1) 10 545 581 BILBAEM
11 341 ( 1.2) 8% EANXE (# | 1) 11 531 588 ;THBEME
12 3.41 (-0.6) 857 MMATEESE (£ ] 1) 12 508 104 b RREEF
13 335 (-0.1) 148 &FEim RBATE (F W 1) 13 DNS 586 FEF f&TE
14 327 (-0.1) 350 k& RE (#£ B 1)
15 3.24 (-0.5) 146 KE HE (& # 1)
16 2.8 ( 0.4) 5712EXKX EASE (M & 1)

DNS ( ) 1B0=8 ¥ (B W 1)

T T RS B B R R
SESHEEST RS
= = NN == ON =N

AUWABEESS SR HUE
FEHEGHEEE D NS
NN =N NDNDDND—



